do?

relationships

frequency table

By the end of this unit you shouk! be able to:
* Draw and interpret scatter araphs

e Deserbe correlation and relationships
ldentify different tupes of non-inear

* Design and complete an ungrouped
e Read and interpret grouped tables

(discrete and contincous data)
o Represent data in two way tables
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Draw and interprel a scatter araph L
~ =2 i x
Age of Car (Years) /2\ 6 8 10 g = 4 x
Value of Car (£5) 750# 6250 | 4000 | 3500 | 2500 ‘_é_ 8 1 5
% . 2  RERE
e This data may not be glen in size order § 3 ]
e The data forms nformation pars for the scatter graph S I ! . . .
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: e Not all data has a relationship
|

The Ink between the data can

' The line of best fit

The Line of best fit s used to make estimates
about the. information n your scatter graph

the age of a car increases the

“This scatter graph show as

value decreases”

Amount of
sunshine

Things to know:

e The Ine of best fit DOES NOT need to

Height of plant

2 4 6 8
Age of Car (Years)

X

The axis should fit al the valves
on and be equaly spread out

SENTATIONS. ..
Representing Dala

Variabe.: a quantity that may change within the context of the problem

Relationship: the. Ink between two variables (items) Eg Between sunny days and ice cream sakes
Correlation: the. mathematical defintion for the. type of relationship

Origin: where two axes meet on a graph
Line of best fit: a straight Ine on a graph that represents the. data on a scatter graph
Qutlier: a point tht. lles outside. the trend of graph
Quantitative: numerical data
Qualitative: descriptive information, colours, genders, names, emotions efc

Continuous: quantative data that has an infinite. number of possible values within its range.
Discrete: quantative or qualtative data that only takes certain vales

Frequency: the number of times a particllar data valbe occurs

Cost of apples

X

X %
X
X

X X
X

XXx

X %

X X
X X
X x

Hours of sleep
before midnight
100 m sprint speed

1 Number of apples

Number of cups of coffee 'Lenglh of thumb nail

Interpolation is using the Ine. of best
fit to estimate. vales nside our data

point

axes cross)

any points)

0 through the origin (The point the

same. numeer of points above and
below the. Ine (it may not go through

Tre Ine extends aeross the whole

[t is only an estimate
because the Ine

designed to be an dverage
representation of the data

e 40 hours revsing predets a
percentage of 45

graph

Itis abvays a straight line.
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: e There should be approximately the
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The number of times an
event happened

The table shows the number of
Sblngs students have The
aNSwers were
312203411202

2 peopke had 0 siblings This mears ther

1
: I
| I
| I
| !

I
I
| are 0 sblngs to be counted here i : §
I Number of siblings | Frequency §
I 0 2|0 : : &
I ! 5|3 I
I : 4 12:2-2:2R2x4-8 ||
| 3 2 3+3R3x2-06
T
| 2 peope have 3 sbings so there are 6 | | s é
| Best represented by sbings in total [ % é
I dvsb/ovrete dati*iNo)t OVERQLL there are I =} f
| ahays aromber, 0+3°8+64 I 8¢
: Sblngs = 2Isbings | || 2

groups out from the smulest to the largest vale

The groups do not
overlap

Cost of TV (£) Tally Frequency
101 - 150 T 1 7
151 - 200 THa TH | i
201 - 250 THL 5
251- 300 i 3

We do not know the exact valve of edch item in a grovp — so dn

estimate would be bused to calculate the overalltotal (Md Point)

included inequaties represent
the subgroups

X

x
Weight(g)

Frequency

40<x <50

1

50<x=60

w

B0<x<70

eg ths group
ncludes every weight
bigger that ©0Mg, up
to and ncluding
70y

r
G(OUEGd Data I we have a large spread of data it s

better to growp it This s so t s easier to look for a trend Form
groups of equal size to make comparison more valid and spread the

20
Time spent practising (hours)

40 60 80

tis an outler because it doesn't fit
this model and stands apart from
the data

epresenting data in two-wau tables

WO Waiy tables represent dscrete information in a visual way that. dlows you
to make. conclusions, find probabilty or find totals of sub groups

—

There are D green

O Tmesifaism\m shapes
I:‘ quares | Circles | Tota
O O Green 2 3 5
[l Red 2 | 3
O D Totd 4 ¢4 3
Using your two way table There are’ 8
ftems in total

To find a fraction
eg What fraction of the items are red? 3 reditems

but 8 itemsin total - %

Interteang se your fraction,
decimal percentage equivalence
knowledge

Posttive Correltion Neagative Correlition No Correlation
Os one variable Os ore variable There § no
Incredses so ncredses the relgtionship
does the other other variable between the two
varidble decreases varidbles
____________________ -
Extrapolation is where we use our
Ine. of best fit to predet nformation
100 outside of our data
£ 8o **This 1§ not. alwaus vseful — in this
g example you cannot score more
§ 60 that 100/ So revising for longer
- RRAE prwx s can not be estmated™
% 40
4
8
i 20 @ —
4 Ths pont s an “outlier”



